
See below the loan amount = €288,000 with a purchase price =  €408,000. That means the loan to 

value or LTV % = 70.58%; in other words 71%. 

But the system will not reflect the Permanent TSB variable rate that falls in this LTV bracket and has 

a minimum LTV of 71%. See screenshot 2 below with excel s/s example of the rate. Can you 

please put a rule into the mortgage engine so that it rounds up and down appropriately? 

This would be a great development because in this scenario the broker couldn’t get a variable 

quotation whereas they should be able to see it. 

 


